FoY &of kg & 270, AL T2 5717k Bl At o
AR FLE A T, 3 AAE et T50] Lhow, F Al
F&o] U 8L (& 7AW &L th Yith)

4 5

10 12 14
Oy @5 5 @®5 05



2 5700lH. o] AAE F 2

Ej
T
o™

HE 971 SolA =

34

o]
bl A o), 2 B 2

Ho

Ly

i
s

o]

7N

= 5
= A

30
&1

25
&1

@



A, B 5 1Y FAL91E BA0) B 1), U 9] ol 59 w4l
A0 57

@ 7744 @ 8714 ® 9714
@ 107}A ® 11714



4.  F Y FALIE A @2 W, 42 =] &l 4 E=8 0] HE

@® 4 714 @ 5 714 ® 8 714
@ 10 7}A) ® 12 7}A



o, ab > 10 9]

5}
=

23
36

19
36

@

17
36

®

13
36

@

11
36

@



2717h Bh2 o] FAREE Aol AAA 2 FARRINA Y o]
FEa, e FANN 2 2 £E b AR T, ax-b=0 9
N7t 27t 2 520

= =

@ ©)

Lo | =
>~ =



x O] H7F -2 < x
BFgolssteY gt
a®] #2?

D -2 2 -1

<
S
S

6<

el

o]
=
H

=

®

et

A7t a

0

y =
<y

X
<

=
=
7

y
7}

i _HN!

ks

gl

ofk

o},

©
o]

2
Rl

® 2

1

s

d

> ol

]_

-

<






4 A(-3
S

1T 1 (?
—’]—”]-11'—
o] Xl 1x

)
(2.8
z (2,5)

-2),

), C(2.k) 7
1,2),
B(-

)
(2,4
o



10.

A A A2, -3), B4, 1), C(2m, 3m + 1)

7 g
QAIG4 y = 20+ m O THZ] + A G
o @ 4 ®-2 @ -

fijo



11, A A x+3y-18 =0, 2x—3y-9 =0, x = 0 & T =Z& E#l

o] Yol

® 24 @ 36 ® + @ — ® —



12. 4719 2 Ay

=—x+3,y=-x-3,y=x-3, y=x+3°2 S
£59] Yol

@D 10 ® 12 3 14 @ 16 ®B 18



279] 4491 A, BE SAI0] 94 o, & 1] go] 11 u]gto]
3529



o | <H

— |



